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PGT English 

Q 1). Who among the following has become the world’s youngest and fastest female para 

swimmer to swim solo across the English Channel Successfully recently? 

(A) Shivani Kataria 

(B) Dolly Nazir 

(C) Devanshi Satija 

(D) Jiya Rai 

Correct Answer: (D) 

Q 2). Recently, an Indian-origin lecturer named Prasanthi Ram at Nanyang Technological 

University has won Singapore Literature Prize for English fiction for her short story 

named _____. 

(A) Nine Yard Sarees 

(B) House of Cards 

(C) Dollar Bahu 

(D) The Very Expensive Coconut 

Correct Answer: (A) 

Q 3). Recently, WHO has declared Dhulikhel Municipality as the second healthiest city in 

Asia. This Dhulikhel Municipality is in which of the following countries? 

(A) India 

(B) Bhutan 

(C) Nepal 

(D) Myanmar 

Correct Answer: (C) 

Q 4). If a teacher first explains the rule and then gives examples. Which type learning style is 

this? 

(A) Inductive 

(B) Deductive 

(C) Indo-Deductive 

(D) Illustration 

Correct Answer: (B) 

Q 5). In which stage, children are able to think about things in terms of consistent physical 

features? 

(A) Sensory Motor 

(B) Concrete Operational 

(C) Pre-Operational 

(D) Formal Operational 

Correct Answer: (C) 
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Q 6). Which of the following is not the main feature of RTE Act? 

(A) Free Elementary Education for all children in age group 6-14 years in a neighbourhood 

school. 

(B) Completion of Elementary Education even after fourteen years of age. 

(C) Private Tuitions by teachers is not prohibited. 

(D) No child is denied admission due to lack of age certificate. 

Correct Answer: (C) 

Q 7). Mr. Patel will be giving a presentation in the auditorium tomorrow. 

The above sentence is of ___________. 

(A) Future Indefinite Tense 

(B) Future Imperfect Tense 

(C) Present Indefinite Tense 

(D) Future Perfect Continuous Tense 

Correct Answer: (B) 

Q 8). Which type of clause is “because I was tired” in the sentence: “I went to bed early 

because I was tired”? 

(A) Independent Clause 

(B) Strong Clause 

(C) Dependent Clause 

(D) Primary Clause 

Correct Answer: (C) 

Q 9). Choose the correct option to complete the sentence: 

“I found ___ interesting book on ___ shelf in ___ library I visit every day.” 

(A) an , the , a 

(B) an , the , the 

(C) a , a , the 

(D) the , a , a 

Correct Answer: (B) 

Q 10). If I _______ the answer I ________ the problem. 

(A) am knowing, would be solve 

(B) would know, solve 

(C) knew, would have solved 

(D) would know, would solve 

Correct Answer: (C) 
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Q 11). What is the correct way to punctuate a question in writing? 

(A) She asked, “How was your day?” 

(B) She asked “How was your day?” 

(C) She asked, “How was your day”? 

(D) She asked “How was your day”? 

Correct Answer: (A) 

Q 12). While driving a car, you should not use a cell phone. 

Identify the underlined portion from the options below. 

(A) Phrase 

(B) Independent Clause 

(C) Dependent Clause 

(D) Weak Clause 

Correct Answer: (B) 

Q 13). Choose the correct meaning of the idiom or phrase given. 

A pipe dream 

(A) A pleasant dream 

(B) A bad dream 

(C) An impracticable plan 

(D) A foolish idea 

Correct Answer: (C) 

Q 14). “My hour has come,” thought he. “Let me meet death like a man.” (Change to Indirect 

speech) 

(A) He thought his hour had come and decided to meet death like a man. 

(B) He thought that his hour has come and decided to meet death like a man. 

(C) He thought that his hour had come and decides to meet death like a man. 

(D) He thought that his hour had come and decided to meet death like a man. 

Correct Answer: (D) 
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Q 15). Match the SYNONYMS and choose the correctly paired options from the below: 

1. Cacophony - A. Reject 

2. Abundant - B. Reflect 

3. Ponder - C. Celebratory 

4. Jubilant - D. Plentiful 

5. Repudiate - E. Discord 

(A) 1-E, 2-A, 3-C, 4-B, 5-D 

(B) 1-E, 2-D, 3-B, 4-C, 5-A  

(C) 1-A, 2-C, 3-B, 4-D, 5-E 

(D) 1-E, 2-B, 3-D, 4-A, 5-C 

Correct Answer: (B) 

Q 16). Find out the incorrect spelling. 

(A) Instructor 

(B) Install 

(C) Intution 

(D) Infantry 

Correct Answer: (C) 

Q 17). Select the pair which has the same relationship. 

Filter : Water 

(A) Curtail : Activity 

(B) Expunge : Book 

(C) Write : Text 

(D) Censor : Film 

Correct Answer: (D) 

Q 18). Which of the following is written by John Milton? 

(A) Pride and Prejudice 

(B) Sense and Sensibility 

(C) Paradise Lost 

(D) Moby-Dick 

Correct Answer: (C) 

Q 19). Spot the error in one of the parts of the following sentence. 

Our history can be seen / as a long evolutionary dialectical development / in which there have 

been / a painstaking forgiving of rational and moral self. 

(A) Our history can be seen 

(B) as a long evolutionary dialectical development 

(C) in which there have been 

(D) a painstaking forgiving of rational and moral self. 

Correct Answer: (C) 
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Read the poem given below and complete the statements that follow with the help of the 

given options. (Q-20) 

Successes Is Counted Sweetest 

By Emily Dickinson. 

Successes is counted sweetest 

By those who ne’er succeed. 

To comprehend a nectar 

Requires sorest need. 

Not one of all the purple Host 

Who took the Flag today 

Can tell definition 

So clear of Victory 

As he defeated – drying 

On whose forbidden ear 

The distant strains of triumph 

Burst agonized and clear! 

Q 20). One realizes the value of nectar when __________ . 

(A) one has it 

(B) one is deprived of it 

(C) one works hard for 

(D) it is given as a gift 

Correct Answer: (B) 

______________________ 

 

 


